N = 0l & At & M A

20158 = 20l A LEHS H HAESAHA
SH: ALBBAL L
HE: XEHLANGS(ZELX SN /KA UEZAl)
CHel: FOIBOIAIA A CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o gﬁ‘&i HRE2
AEEAAS A 34,781,766 28,908,516 5,873,250
= 6,465,000
&< 1,674,000
Al 26,642,766
KNAMLAL(2ELXFHL /XL Al 6,060 959,725 A 953,665
FOIEHAAILE AHAHA 6,060 959,725 A 953,665
2E2AHAESE HEAMY 6,060 6,732 ANBT2
201 et d| 3,360 4,032 ANBT72
01 AF2 2t 2| bl 3,360 4,032 ANBT2
O5.2&4| 3,360
“ZTASSAY ASEW 24
7,000 x5H x8L x12& 3,360
202 04| 2,700 2,700 0
01 2L HI 2,700 2,700 0
OAFZX ez &40
60,0003 *5H 3L 33| 2,700
SHIHSERA(ZELRFHL/NAUZA) 3,249,986 2,840,993 408,993
= 1,550,000
== 199,000
Al 1,500,986
Zststael 1,032,000 1,402,520 A 370,520
s 20t2el 1,032,000 0 1,032,000
401 Al HI L E0HHI 1,032,000 0 1,032,000
01 Al&H| 1,032,000 0 1,032,000
O&0eled A& AX Jl2 & AAZA
22,000,000 14! 22,000
O&0el e A=A AX 2H0|loHE0ISE2AAM
Ad 54 10,000,000& * 14l 10,000
O&0e €& &d=& A
1,000,000,000& * 14! 1,000,000
OO Xl HI & 22| 2,217,986 1,431,573 786,413
= 1,550,000
= 199,000
Al 468,986
Zs RE AR ZH(EX) 2,217,986 1,431,573 786,413
= 1,550,000
= 199,000
Al 468,986
401 Al HI L £ 0HHI 2,217,986 1,431,573 786,413
= 1,550,000
& 199,000
Al 468,986
01 Al& H| 2,214,000 1,429,000 785,000




PN ALESZAIL A
3 SHUHESA (2 ELNYMNLE/NISLT A
el Ao X H A 22 (Sl & &)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZE 78 fgBe ZHZA
2,214,000,000& 14 2,214,000
= 1,550,000
< 199,000
Al 465,000
03 A& =2 THHI 3,986 2,573 1,413
OZEFE YIS ZHI3 A AIE20UHI
2,214,000, 000% 0.36/100%50%< & 2> 3,986
AT HAA (BBLE/MGHEE - £H) 11,525,720 3,503,514 8,022,206
= 4,915,000
< 1,475,000
Al 5,135,720
NEEBSE ZelAY 1,392,093 1,065,094 326,999
Sl=SEEY 2l 81,816 72,244 9,572
101 @14 Hl 81,816 72,244 9,572
04 JIZHHZ2XREE S 81,816 72,244 9,572
OEZZatel el 28,663
-l slsEnd 44,6403 1 152 +7E 4,688
-3y =sEEE 44 640 1H+7L 68 1,875
-24d slsgnd 44,6403 1 152 123 8,036
-SSR UE dEEEd
44 6403 < 1H «15 «73 4,688
-& % sl 44,6402 1P« 152 72 4,688
-=H =g H 44,6403 x1E =152 +7E 4,688
OF2XT 0S4 OIS AAHI(7THA)
44,6403 *17H x22 x7 3] 10,625
O&«=X7 0lSA HE 25 AHX 2AHHI(4
N 2) 44 640 8 2 x53] 3,572
OUSEHIHY M= (4, s, HY S, of
£ E5) 44 6403 «3H x50 A +22 #23] 2,679
C4liE" JIA2RES 45,539,000 *11.5% 5,237
Ofsgod sS#FFdl(odiel &#5) 31,040
i ral:] 200,000& x16H +9 & 28,800
-28 & 203 140,000& 16X 2,240
A=EEEY 72l 1,310,277 992,850 317,427
101 @124 dl 3,880 3,880 0
4 D12t Z2XREES 3,880 3,880 0
OF&H IS842E - 8la=S AISE AE (L2
Utel HE) 3,880
v al:] 200,000 x2H «9& 3,600
-2 2 203 140,000& »2H 280
201 ¢et24] 764,643 744,506 20,137
01 At 2t 2l 82,743 77,906 4,837
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SH: ALBBAL L
B SaCHMAN(BEDE/MEEE - 2 F)
Cell WSEIE B2AAY CER-ED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OYSBLE 2 MIIE2uW=E (Wl
60,0003 *x7H x5 2,100
Obi+=&Hl gRu=s Ol 60,0003 x6H x5 1,800
401 AIEBIZ 201 8] 537,854 240,864 296,990
01 A& Bl 537,000 240,000 297,000
Oy sSHIE HIZ HU|(100HP)
20,000, 000& =2CH 40,000
O&UYSHZE HI 20 (20HP)
10,000, 000& = 1CH 10,000
oMY sSHZE BX HX|(20HP)
20,000, 000 *1CH 20,000
OB st S8ETa T Y| (50HP)
17,000, 000 * 1 CH 17,000
oYY SHIE HI HU|(473HP)
30,000,000 *1CH 30,000
ossHZZ HBXZ HH|(200HP)
25,000, 000 *1CH 25,000
OZeYsSHZE HI HH|(75HP)
18,000,000 = 1CH 18,000
OsEYSHZE HI HH|(50HP)
10,000,000& = 1CH 10,000
OsHYSHZE BXZ HUl(160HP)
20,000,000 = 1CH 20,000
OUSN=SEHEZE OtE Ex=3A
20,000,000 * 14! 20,000
O=TU=EZE 2 1L SLHOHE ZH
20,000,000 * 14! 20,000
OFEZ =t i=8EHE IHT2A2 EXSAM
HAEX 24| 76,0803 x92m’ 7,000
OFE S KOtE 2 & 4=IH& 3 AH(L=100m)
300,000,000& 14 300,000
03 Al =2 THHI 854 864 A 10
OdsESd Edl AIZ2=20dl
237,000,000 *0.72/100%50%< & 2¢> 854
St AlE (M2l 22 )ALg 291,044 335,000 A 43,956
ot & X 291,044 335,000 A 43,956
401 Al Bl 2B 291,044 335,000 AN 43,956
01 A& HI 290,000 335,000 A 45,000
OSPIXS MEH 545 N4 U =&
120,000, 000& * 14! 120,000
Oddg s®el st 4d X2 AH(L=160m)
60,000,000& » 14! 60,000
OJI=d 412 28 ot = & Hl 3 AH(L=200m)
30,000,000& » 14! 30,000
OJIAH Jtet1e| Ot2dt+% & X3 AH(L=50m)
0,000,000 » 14! 30,000




PN ALESZAIL A
HE: ST HAAMS (BHES/MELE - 2)
©el: St AlE (Hel R )AY (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFIIH dF22| ot=% & XS AHL=250m)
40,000,000& » 14! 40,000
OZolH E5F22| of== HUISA
10,000, 000& 14! 10,000
03 A& S THHI 1,044 0 1,044
Odt=Z=Z At A& 20|
290,000,000& *0.72/100%50%<& 2> 1,044
NEBSE AXAY 9,842,583 2,103,420 7,739,163
= 4,915,000
< 1,475,000
Al 3,452,583
SAHYUSEHIHAEX(EX) 7,939,163 2,103,420 5,835,743
= 3,965,000
< 1,190,000
Al 2,784,163
401 A& HIZ 201 Y] 7,939,163 2,103,420 5,835,743
= 3,965,000
= 1,190,000
Al 2,784,163
01 A& HI 7,330,000 1,900,000 5,430,000
OSKNUEEEE AXSA
7,330,000,000& 14 7,330,000
= 3,965,000
< 1,190,000
Al 2,175,000
02 2feldl 600,000 200,000 400,000
Ol s8TY ZXSA dLMmPae &9
=]l 600,000,000 » 14! 600,000
03 A& 2 THHI 9,163 3,420 5,743
O=sXSBIZ ZX3A AIZ 20
7,330,000, 000% x0.25/100%50%< & 2> 9,163
EMIANLE X (EX) 1,903,420 0 1,903,420
= 950,000
= 285,000
Al 668,420
401 A& HIZ 201 I 1,903,420 0 1,903,420
= 950,000
< 285,000
Al 668,420
01 A& HI 1,900,000 0 1,900,000
OBES LHBAL SXZA
1,900,000,000& 14 1,900,000
= 950,000
= 285,000
Al 665,000
03 Al S THHI 3,420 0 3,420




2N

HES I AL A
FH: ST HEANS (BHEES/MGI+E - +F)
el ISHIE AXAY (B9 ®R)
= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
OBEs =MJAE AXZA AIE2UHI
1,900,000, 000% *0.36/100%50%< & 2> 3,420
Wees(ALsIMgL)(BIES/d6t+E - &E) 20,000,000 21,600,000 A 1,600,000
WEHHX = 20,000,000 21,600,000 A 1,600,000
SIgHEEZ(Gt=<) 20,000,000 21,600,000 A 1,600,000
701 JIEtSI HSHES 20,000,000 21,600,000 A 1,600,000
03 BIIHELEIIAHN2HEES 20,000,000 21,600,000 A 1,600,000
Odt+=C3INEELE3H 8=3
20,000,000,000& 20,000,000




